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Entry 3: Reading
Module: Incidents and accidents at work
Module aims

Main aim
We are learning to read descriptions of incidents and accidents
Other learning aims
We are learning:

· About the simple past and past continuous
· Terms used in reports
· Common abbreviations and acronyms used in the sector
Module: Incidents and accidents at work
Describing an accident
Aim: We are learning how to describe something that happened in the past.

Workers and employers have to record any accidents or near misses that happen at work. A near miss is when an accident nearly happened. If a driver stops a vehicle one second before hitting something it is a near miss.

We use the past tense to show what has already happened. There are several ways of writing in the past tense.


Zoran worked for Belston Air Services.

This shows that Zoran worked for Belston Air Services in the past. 

He may have worked for them regularly.

Zoran worked for Belston Air Services four days a week and went to college one day a week.

If Zoran was working for Belston Air Services at a particular time in the past, we could write it like this.


Zoran was working for Belston Air Services yesterday.

Something might have happened at that moment in time.


Zoran was working for Belston Air Services in April when he broke his arm.

Making the past continuous form

The first part is using the past tense of the verb to be.





singular

plural





I was


We were





You were

You were





He/she was

They were

The second part is to add -ing to the base form of the verb:

rain

becomes

raining 

If the verb ends in the letter e, drop the e and add -ing.



charge
charging
If the verb has a short vowel (a e i o u) double the last letter and add -ing.

stop 

becomes

stopping
Read this report on a near miss
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Task 1: Words that mean the same thing

Underline all the verbs in the past tense in the text above. 

Remember: some verbs in the simple past are irregular.

Task 2

Now use some of verbs you have learned to complete these sentences. Look out for irregular verbs.
1.  It ____________ (rain) when it _____________  (happen).

As I ______________  (run)  to catch a bus, a car _____________(come) round the corner.

The car ___________ (slow down) and I __________ (stop).

2. As the train ______________ (come) towards the platform, a bottle of oil ________ (fall out) of someone’s shopping basket and smashed.  

There ________ (be) oil all over the platform.

Two people rushing to catch the train ______________ (slip) and __________ (fall).

One ___________ (twist) his ankle and ____________ (limp) to a bench when he __________ (slip) and ____________  (fall over) again.

Extending vocabulary

Aim: we are learning words used in reports.

Read this report from a local newspaper.
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Task 3

Newspaper reporters often use both formal and informal language in the same article. Read the article again and try to work out what the words and phrases in bold mean. Write them next to their definitions in the table. The first one is an example.
	can’t possibly do any more
	is another way to write
	stretched to the limit

	cheap
	
	

	sacked
	
	

	about, around, approximately
	
	

	a short time ago
	
	

	1. not good enough, unsatisfactory
	
	

	happened
	
	

	about two metres
	
	

	speed
	
	

	another choice
	
	

	2. not good enough, unsatisfactory
	
	

	just bought
	
	

	certain to happen
	
	

	made a set of movements while driving
	
	


Note: There are two phrases that mean not good enough.
Abbreviations and acronyms

You will see many different abbreviations in safety manuals, as well as in accident and incident reports. This activity will help you remember what they mean.  

Remember:  an abbreviation is a shortened form of a word or the first letters of a phrase, e.g. BBC is the abbreviation for the British Broadcasting Corporation. TfL is the abbreviation for Transport for London.

An acronym is the first letter of a name of something that is said as a word, e.g. Train Operating Companies are called TOCs.

Task 4

Write in the abbreviation or acronym next to the word or phrase that tells you what it means. Complete the general table and then fill in the table for your sector. The first one is an example. Write other abbreviations you need to remember in the spaces.

	HSE
	PPE
	am
	Thanx
	Asst 
	PLS
	SPAD

	TOI
	TPWS
	RAIB
	DVLA
	PCV
	DSA
	CPC

	CPC

	mph
	NLC
	GH
	LUG
	ATOT
	ARR
	PAX


	
	General

	PLS
	Please

	
	Before noon

	
	Health and Safety Executive

	
	Assist

	
	Thanks

	
	Personal Protection Equipment


	
	Aviation

	
	Arrival

	
	Actual take off time

	
	Passengers

	
	Ground handler

	
	Luggage


	
	Rail

	
	Train Operator Indicator

	
	National Location Code

	
	Signal passed at danger

	
	Rail Accident Investigation Branch

	
	Train Protection Warning System


	
	Road

	
	Certificate of Professional Competence

	
	Miles per hour

	
	Driver and Vehicle Licensing Agency

	
	Passenger carrying vehicle

	
	Driving Standards Authority


How did you get on?
Module 2: Duties and responsibilities
Task 1 answers


[image: image3]
Task 2 answers

1.  It __was raining___ (rain) when it ____happened_____  (happen).

As I ___was running____  (run)  to catch a bus, a car _____came_____(come) round the corner.

The car ___slowed_____ (slow down) and I ___stopped____ (stop).

2. As the train ____came____ (come) towards the platform, a bottle of oil ___fell out_____ (fall out) of someone’s shopping basket and smashed.  

There ___was_____ (be) oil all over the platform.

Two people rushing to catch the train ____slipped____ (slip) and ____fell over______ (fall).

One ___twisted____ (twist) his ankle and ___was limping____ (limp) to a bench when he ___slipped____ (slip) and ____fell over________ (fall over) again.

Task 3 answers

	can’t possibly do any more
	is another way to write
	stretched to the limit

	cheap
	
	low cost

	sacked
	
	relieved of his post

	about, around, approximately
	
	estimated

	a short time ago
	
	recently

	1. not good enough, unsatisfactory
	
	below adequate or

not up to scratch

	happened
	
	occurred

	about two metres
	
	six foot

	speed
	
	swiftness

	another choice
	
	alternative

	2. not good enough, unsatisfactory
	
	below adequate or

not up to scratch

	just bought
	
	newly acquired

	certain to happen
	
	inevitable

	made a set of movements while driving
	
	manoeuvred
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Task 4 answers

	
	General

	PLS
	Please

	am
	Before noon

	HSE
	Health and Safety Executive

	Asst
	Assist

	Thanx
	Thanks

	PPE
	Personal Protection Equipment


	
	Aviation

	ARR
	Arrival

	ATOT
	Actual take off time

	Pax
	Passengers

	GH
	Ground handler

	lug
	Luggage


	
	Rail

	TOI
	Train Operator Indicator

	NLC
	National Location Code

	SPAD
	Signal passed at danger

	RAIB
	Rail Accident Investigation Branch

	TPWS
	Train Protection Warning System


	
	Road

	CPC
	Certificate of Professional Competence

	mph
	Miles per hour

	DVLA
	Driver and Vehicle Licensing Agency

	PCV
	Passenger carrying vehicle

	DSA
	Driving Standards Authority


�Transport



















































































































































































































































































Many people in the UK still use imperial measures:  feet, inches, pounds and ounces.


There are 3.28 feet in 1 metre. 


1 foot is about 0.305 metres. 


The plural of foot is feet but in this text six foot is a compound adjective. A compound adjective is an adjective formed by more than one word. You can also write compound adjectives like this: six-foot, part-time, well-liked but newspaper articles often leave out punctuation like –, hyphens and even some commas.











It was raining when I left the depot at midday. I was coming up to the last stop when the accident happened. As I was slowing down before the turn to the station a woman ran across the road. She slipped on a wet patch and fell. I slammed on the brakes. The bus stopped about half a metre from her.


I was shocked and shaken. I checked that the few passengers left on the bus were okay. Fortunately there were only two and they were alright.  


I opened the door and got off the bus. By this time there was a small crowd of people. One of them was helping her up. She was limping. She had twisted her ankle. She apologised to me. She was running for a train and did not notice the bus.   


I got back on the bus and called control to report the incident.





Baggage handler rips a hole in 737 at Belston Airport 


Accidents on airport tarmac around the world cost airlines around £500 million every year, according to aviation expert Andy Sharp.


One such accident occurred at Belston Airport recently when a member of baggage handling company Skybags manoeuvred his truck too closely to a newly acquired Cloudways Boeing 737, tearing a six foot hole in the fuselage.


While staff at Skybags claim that training for the job falls below adequate, the driver involved is understood to have been relieved of his post.


Workers are also defending the driver who caused an estimated £1 million pounds worth of damage to the £40 million jet.


A Skybags Ground Handling worker told Belston News: "The training we receive is not up to scratch.


"The fact that we are short-staffed, under-trained and stretched to the limit made this kind of accident inevitable."


Many passengers praised the low-cost airline Cloudways when the incident occurred for their handling of the situation and for the swiftness with which the airline found alternative transport for their journey to Sofia.





It was raining when I left the depot at midday. I was coming up to the last stop when the accident happened. As I was slowing down before the turn to the station a woman ran across the road. She slipped on a wet patch and fell. I slammed on the brakes. The bus stopped about half a metre from her.


I was shocked and shaken. I checked that the few passengers left on the bus were okay. Fortunately there were only two and they were alright.  


I opened the door and got off the bus. By this time there was a small crowd of people. One of them was helping her up. She was limping. She had twisted her ankle. She apologised to me. She was running for a train and did not notice the bus.   


I got back on the bus and called control to report the incident.
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